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Cwirid : 3 et | [ Qursg wHUGLaTsET : 150
Time Allowed : 3 Hours | [Maximum Marks : 150
ofleyeor : « (1) <mangs elamrésEpd sfllwrs uHerdl o drarsm 6ranLS6m e

sfluriégs Qererarab. FsLLS 6N Geopulmubler siemné
samsralurerfiLb o L angwrss CQgfleilissa.
2) Bab wes snly @olmen wi GG awgusHEGL LLAL(GSS
Caugr@. LIRS euemreugsn@ Guenéled Lwer(hiigewn.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

u@S - i / SECTION - A
GOy : () Sloess lamssEnsEh eamwalssa|. 30x1=30
(i) sfwner e emws CopEsHSSH THSIS. -

Note : (i) Answer all the questions.
(ii) Choose and write the correct answer.

1. galiCsisamsmu WssHAnbUL Gram@b el e :

(1) 100 nm - 200 nm (<24,) 200 nm - 300 nm
(@) 400 nm - 700 nm (FF) 700 nm - 900 nm
The most effective wavelength of light for photosynthesis :

(a) 100 nm - 200 nm (b) 200 nm - 300 nm
(¢) 400 nm - 700 nm (d) 700 nm - 900 nm
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2
2 WTCeud e LIHPSH 6T STFETLOTE Ao HOCearm 3jdlenisenar
2 (HeUTES (LPlgeuSHleena.
() QerT&sn (<) Bl GrrevGumym
(@) angasm <Ml igerid (FF) e0&&T HmSTE
Biochemical mutants of failed to synthesize certain amino acids.
(a) Sorghum (b) Neurospora
(c) Cicer arietinum (d) Cicer gigas

‘Upeneusaier Q&rTés T erammaPssLIL(Hieug
(1) Wyevr umygedlursr

(<) AL A Awur QredGan

(@) rreuGarer wLsrevatwemlen

() QandCsraflwr Hmndlerd

“The bird of paradise flower’ refers to :

(@) Musa para}disiaca

(b) Sterlizia reginae

(c) Ravenala madagascariensis

(d) Heliconia Sp.

@pdwurefer sriyflennsd sred :

(@) 3 pEmOsa ()4 er®ssr (@) 5 yamBadt () 6 amadT
Duration of patent in India is :

(a) 3 years (b) 4 years (c) 5 years (d) 6 years

paisdld gallssrassien LD almera] parpgadia s HlulLLL srarb :
(=1) Carglenio (<) Yenaullene (@) @Lev () SHevgerhsiobd

Photoperiodic response in flowering was first observed in :

(a) wheat (b) tobacco (c) oats (d) chrysanthemum
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srevurfluer Ll enL_gar CQurmeflemme o ssiiLlLg).
(1) Eul g e (<) Quéigen (@) dsafler  (7) sufer
Casparian strips are made of substances.

(a) cutin (b) pectin (c) lignin (d) suberin

ﬁgw@&rﬂmrrsmgj safl werrs GRIESD AL BFIETET HTEULD

() ersSlenmiion (=) eraflwm
(&) flevgerpdion (FF) Lmellwmr
The head is reduced into a single flower in :

(a) Echinops (b) Launaea
(c) Chrysanthemum (d) Dahlia

T EILIGLOTEVSEN 6T 6V EERTL 6 greurgslen sefl :

(=) Leml (=) Qereysaei

(@) Qréwr (FF) &s jenm Geulgsef
In Abelmoschus esculentus, the fruit is :

(a) Drupe (b) Schizocarp

(c) Regma (d) Loculicidal capsule

2 wil(merer ‘e_r,rrsur;r Ceaallallmbs WY sraurdms o (HeursEh SHmen
ereariu(HID.

(1) LrHUTH LG (=) 2 mULsaTTES0
(&) umsCasrHm o (meurssid (F) epdmer QubmeTeTenio

The inherent potential of any living plant cell to develop into entire organism is called

(a) differentiation (b) organogenesis

(c) morphogenesis (d) totipotency
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10. GUTERTLT STEUFLD 6( :

(1) 1oL @siman] (=) ©G gL@amen
(@) Qsromib greuyd () UGS @l (Hemeam
Vanda plant is a :

(a) Saproiohyte (b) Total Parasite

(c) Epiphyte (d) Partial Parasite

11. @@ aposamm FADH, (ppenowlrer 2 &e0lnCarhnsdarGurg Geuefuldl(Heug)
. (=21) 1 ATP (<=3) 2 ATP (@) 3 ATP (FF) 4 ATP

One molecule of FADH, on complete oxidation yields :
(@) 1ATP (b) 2 ATP (c) 3 ATP (d) 4 ATP

12. Qsdalaerer RNA-6fld mRNA allan siamey.

(é\l) 10 - 20% (2,) 5 - 10% (@) 3-5% (rr) 20 -30%
mRNA is about of the RNA content of the cell.
(@) 10 - 20% (b) 5-10% (c) 3- 5% (d) 20-30%

13. srHm suTesHen (pee Hlana

(=) anergasradlflav (<) Srtiey FPHE

(@) .@@JQ < sadlspGanpmd (/) spné gafl LTavLflETamD
The first step in aerobic respiration is :

(a) glycolysis (b) Krebs cycle

(c) terminal oxidation (d) cyclic photo phosphorylation

14, @aeiy Cergmen sl 6H&GD
(21)1:7:7:1 (st Y7 21 ¥1 27 (@) 1:1:1:1 () 9:3:3:1
The coupling test cross ratio is

(@ 1:7:7:1 b)) 7:1:1:7 (©) 1:1:1:1 (d) 9:3:3:1
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15¢ weCuriCwé GRbusHed GLib Cupmierer Cuferiigser

(=) 82 (<=5) 90 (&) 300 (FF) 254
Euphorbiaceae includes about genera.

(a) 82 b) 90 (c) 300 (d) 254

16. Q@ USHPL @&S @M B :

(@) ya (@) @Il (@) eflustsd  (7) <ieuery
Isobilateral leaf is present in :
(a) grass (b) cucurbita (c) sunflower (d) bean

L]

17.  Gppuudfler “Gamoraflsser Crranuw” 2 (HeuT& G e6ug)

(1) psadlgen (<) Byellan

(@) s GLrensaflen (FF) qufdsE opfleid
“Foolish seedling” disease of rice is caused by :

(a) Auxin (b) Gibberelins

(c) Cytokinin (d) Abscisic acid

18. @@ Qsrp QUWAG emerw SIHpsLILGSHwer :
(=1) sGrravev eenCemuien (<) srevur(® LTablen
(@) & Cgrels LrdLen ancési  (F) SLTadSH0 eriert
The Botanist who introduced Binomial system is :

(a) Carolus Linnaeus (b) Gaspard Bauhin
(c)  Sir Joseph Dalton Hooker (d) Adolf Engler

19. OUMSumrid BTT&ET TG

3641

(1) emeveld Hiraser (=) g r&&EHser
(&) eevas Gmiser (FF) emenweld LITFeiensLom
Libriform fibres refer to :
(a) xylem fibre (b) tracheids
(c) xylem vessel (d) xylem parenchyma
Al [ $mliys / Turn over
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20.

21

22.

23.

24.

6

Lar LMD 2L QmEssHadlmbs G LueTu@SSLILED LO(BB :
(<=1) glenGlar (<) y@yréedlen (@) GWemerer (FF) wmrrYer
The drug used to relax mental and physical stress :

(a) Ginseng (b) Digoxin (c) Quinine (d) Morphine

@ﬁeﬂ‘u_l Ceuerraimenio prmited Heveowitd DD IDBFIETET @L LD

(31) ey (=) yg Qrevell (@) ew&Gerr () Geaene
Indian Agricultural Research Institute is situated in :

(a) Mumbai (b) New Delhi (c) Lucknow (d) Chennai

Slgmarar, Garmarer, s GLrflér wHMD wrrdd S B
Bl saflGure L HaeEpn qenmL e garn CQaaGaup eumssald @ama
2 (Heur@d Car_reisaflen eramanisams .

(=1) 64 (<2p) 54 (&) 46 () 69

The four nucleotide bases adenine, guanine, cystosine and uracil combine with each oth
different combination to form codons.

@) 64 (b) 54 © 46 (d) 69

Lpenar enaveold smrertliLi(heug) :
(<) @@ dlgdon srauy Qoo (24) A allsdlena greuy Geurr
(8) om dsdHeow sreur Cour (/) Q@ efgderaw greur Qeva

Polyarch condition is found in :
(a) “monocot leaf (b) dicot root

(c) monocot root (d) dicot leaf

QuBsD WHHIDL anvésT Qeueludl L Qegaflym Qerraor_myid

(=1) @m AsredHuyeamwg (=) @rer(® QsrEHasmanyyemwig
(8) ey QsTEHsmeanyen_wig () Bren@ Lsm@HaamenyienL wg)
Genera plantarum of Bentham and Hooker was published in :

(a) single volume (b) two volumes

(c) three volumes (d) four volumes
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26.

27.

28.
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GCaml& - eveord UTensufed wae sriuer el elenemullenCumsg, 2 L 6
CO, Qamembg yserGar 2ifligé bled 2 Heurdpg).

(=1) urevGur FremTed eLmels llavid (=) pevunrigd jblen

(@) wrellé eibleid (FF) edumeils ojfleid

In Hatch - Slack pathway, the first step involves the carboxylation of to form
oxaloacetic acid.

(@)  Phosphoenol pyruvic acid (b)  Aspartic acid

() Malic acid (d) Pyruvic acid

wellgan o L Osrararssss el e Qefbs wrderser @) e mnbsg)
swurfléstiu@éngy.
(<=1) BrevLTE (=) wanGevgev (@) sTermen (FF)  evenLimedl e

Enriched vitamin tablets are produced from the following organism for human
consumption :

(a) Nostoc (b) Hibiscus () Mushroom (d) Spirulina

aDTLgaT - er@ibL| Genanrell ererm euanlls QUWT @evs GHéEHng -

(=1) flsav Geurlpriigerfe (=) gdle wrideren
(@) srellur @argsT () Gerereand epparLd
The trade name Hadjor - Bone Joiner refers to :

(a) Cissus quadrangularis (b) Aegle marmelos

(c) Acalypha indica (d) Solanum nigrum

oL FrGorafiuih eTeM Lo(HbSler Liwe :

(1) sowsaucieonw Bés

() proy geriésleow Séssa

(8) pevsgioT WHND s&EGauT @Mmven BéEso
() Qe wnhs)

Stramonium is used for :

(a)  Relieving muscular pain

(b) Treat nervous disorder

(c) Treat asthma and wooping cough

(d) Cough syrup

[ &lpliys / Turn over
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29,

30.

8

@& CuravEurbsefia Famr sLsgID WeHL Fmpsar :

(<31) Briger (=) sOOMLE FnmseT
(8) @evas @rrisedr () gré&sS@ser

In Angiosperm water conducting element is :

(a) Fibres (b) Sieve elements

() Xylemvessels (d) Tracheids

GEns&Carallern seours mey :

(<) 5 () peny (@) 1.33 (/) 0.36
Respiratory quotient of glucose is :
(a) zero (b) one () 1.33 (d) 0.36

Yfley - =y / SECTION - B

GOl 1 eemeCued LSleanhg olassEnsE ol wWallEse)b. 15x3=45
Note : Answer any fifteen questions.
31. v Crell GHLUSHeT D@RSTTS STauTRISET epeder @ Qerh Quwfeanen

32.

33.

34.

35.

SO HS.

Write the Binomials of any three ornamental plant in Asteraceae.

wrGeamméarenioy Cw - fny GANLQUES.
Write short notes on monochlamydeae.
@ Qarm Quu.uﬁ@ (PEOM GTETMTE) GTETEHT?

What is Binomial nomenclature ?

S| (LIOENGUETE) GTETDITE) 6T6aT6?

What is pulvinus ?

aufl Clacaer erammmed 6remen?

What are passage cells ?




36.

37.

38.

39.

40.

41.

42,

43.

44.

45,

G0&ECsHmIb Blapefenar efeufl?

Write short notes on crossing over.

ermmiiig uflen e (psAussieutiseamar &) ?
Write any three significance of ploidy.

LIy euenruLsdlenr Liwengar wiremeu?

What are the uses of gene mapping ?

gafl Gl s - QUENITILIT).
Define SCP.

Give the Binomials of three monocot transgenic plants.

QBrdése CTGMTE) 6TeTen?
What is Fermentation ?

EMP euflgsL ib QUEDTLI).
Define EMP pathway. -

earg@GedllLy <ymmed GTEIIMTED GTeoTerr?

Define energy of activation.

@efl seursseng QUEDTILIT).

Define photorespiration,

. 3641

Fe gafl Lrevufsrem s THS GLpilevevullen BeoL_Glumiflme;?

State the conditions under which cyclic photophosphorylation occurs.

»
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16. efltugern TS euanTann Qs
Define vernalization.
47. dm 26T L_(Lpenm CUENTWIMI. BFET GUMSSHET WITency ?
Define Heterotrophic nutrition, Mention its types.
48. swBlenels Leref CTEIMTE) GTeTeT?
What is compensation point ?
19. géled wrideren STeursglen epenm mEgiey LieTsemer T (PS5
Write the three medicinal values of Aegle Marmelos.
50. 2.u9f 4&dls Qarded) GTGIMTE) GTErTEn?
What is Bioinsecticide ?
Hifley - & / SECTION - C
GOy : (i) sTemeuGuien)in (P lerésEnéE efenL S(HS. SeunmieT edlemm erer
51 6@ samqlurs el wefés Gouator(HLb. 7x5=35
(i)  Gsemeuwrar QL iisafle L b U TS
Note : ()  Answer any seven questions including Question No. 51 which is
compulsory.

51.

52,

53.

54.

(i) Draw Diagrams wherever necessary.
2l 2 @6 srairedwc Qi G0 sl gfer gCoaid mibg WEEW Sbstisamer

CT(LD&I5.
Write any five saljent features of ICBN,

wrerGeuad greuyhisa e QurmerTgmy WsElwggaisams e,

Give a detailed account on Economic importance of Malvaceae.

QOUALsder =g liLeL 19 A5G dessamar uensLLMRSS efleu.
Explain different types of Meristems based on their position.

L GerQasy Lp GOILY euenrs.
Write short notes on Tyloses.
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56.

57

58.

59.

60.

61.

62.

11 3641

Gmeilsdleve sreur @Qevauden UpECarer updl @Bl erips)s.

Write short notes on the epidermis of a Dicot leaf.

&CrmCurCsmibsaier Sjenwlienll efleu.

Write short notes on the structure of chromosomes.

Sliei rHméH e WHEWGFIoUD wirg)?

What is the.significance of a mutation ?

Aprdlser wen LCrT G Gerrs 5allgCsHsgma ofeu.

Explain the enzymatic method of isolation of protoplast.

gt @b wrhflumwdsiul L Dewanuiflsemer  sHmiymé Gpale
CouaflelBousme JOUMHLD BETMDEET WTeneu?

Write the benefits from release of genetically modified micro organisms into the Environment.

Lsnisealssdar enwliomu efleuf,

Describe the structure of chloroplast.

G b C; aufls sLhisErsdaCu o drar Caupur@aer wireneu?

What are the differences between C; and C, pathway ?

sreury Lt Qupsssder @H&ECarerser wWreeu?

What are the aims of plant breeding ?

[ HBLLs / Turn over
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19fley - =/ SECTION - D ¥
G@Ouy : ()  eremeuCugnid BresE) ClaEsEnsE ellenL &(HS- 4x10=40
(i) Gseeuwrear @LBSEN® LILLD eUTS.
Note : (i) Answer any four questions.

63.

64.

65.

66.

67.

68.

69.

70.

(i) Draw diagrams wherever necessary.

Bl Caé) @@Lbugﬁs}}r QUITILI LGRTLSENET 6T (SIS

Write the general characteristic features of musaceae.

QUBESD LHMID ADCEST STEUT EUEDSLILITL g ene Qeufl. (Qewe euflluL b DOOG
efeT&aID)

Describe the outline of Bentham and Hookers classification of plants. [Flow chart or
Explanation]

QmelsHme Freur SEMgHELD, @melsHama greuy SamiqHED Qe _Gu e @rer
2 gremenwliGwe Geumurhsemer 6T (p&is.
Write the anatomical differences between dicot stem and monocot stem.

oy sRGESD erampme eratan? Bigen ApLdiuousemaT eSS,
What is genetic code ? Write its characteristics.

DNA wpCsiréems Gamflad pilusdan Blapasmar UL gglLen efleurl.
Write the events of Recombinant DNA Technology with diagram.

Ayt spndeow efeuf (Gewed afliuLLd ey ellass)
Describe Krebs Cycle. [Flow chart or Explanation]

< eAGUrevEUTbsalen LOGa 2aTLL (PEDSEET effleufl.

Describe different modes of nutrition in Angiosperms.

2 WA 2 b eramUms au@rmD CFLs. o 19 2_rruseflen HeTenoseT Wrenal?

_ Define Bio-fertilizer. What are the benefits of Bio-fertilizers ?
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